Teopus ynapa

K niockomy omHOpomHOMY Tesly MpHUJOXKEH YAapHbIH umny/abc S. Ha#iTu ckopocThb

TOYKH A mocJie ynapa.

3anaua D-40.1.

m=1Kr,a=8cM, b=3 cm, c =2 cM,
S =173 krem/c.
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m=3Kr,a=06cM, b=3 cwm,
c=25cmM, S =198 krem/c.

3anaua D-40.3.

m=3%Kr,a=4cMm b=14 cwm,
S =576 krcem/c.

3anaua D-40.4.
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m =3 KI, a = 6 cM, b:a\/§/2,
a=m7/5 8 =21 krem/c.

3anaua D-40.5.
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m=>5Kr, a=12 cM, b = 6 cM,
S 1 AB, S =40 krcMm/c.

3anaua D-40.6.
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m=2Kr,a=7cM, b=2 cMm,
S =170 krcm/c.

3amaua D-40.7.
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m=2%kr,a=5cM b=1 cwm,
c=2cm, S =88 Krem/c.

3agaua D-40.8.
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m=1Kr,a=4cMm, b=2 cm,
S = 284 krem/c.




3amaua D-40.9.
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m=1%kr, R=9c¢cMm, r =7 cM,
S = 260 krcm/c.

3agaua D-40.10.
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m=1%kr,a=9cM, b=06 cm,
S =117 krem/c.

3apgaua D-40.11.
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m=>5KrI, a=6cM b=14 cwm,
c=2cMm, S=1040 krcm/c.

3apgaua D-40.12.
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m=3KrI, a=6cM, b=2 cMm,
c=2cMm, S =384 xrcm/c.

3amaua D-40.13.

m=2%kr, R=3cMm, r =2 cm,
S = 1012 krem/c.

3apgaua D-40.14.

m=2kKr,a=12cM, b=4 cm, ¢ = 3 cM,
S = 640 krcm/c.

3angaua D-40.15.
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m=3KI, a=15cM, b=25 cMm,
c¢=5.5cMm, S = 1302 krem/c.

3agaua D-40.16.

a

m=3KI,a=3cM, b=3 cMm,
S = 216 krem/c.

3apaua D-40.17.
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m =3 KI, a =4 cM, b:aﬁ/Z,
a=m7/7, 8 =24 krem/c.

3apgaua D-40.18.

B

m=3«kr, a =10 cM, b = 5 cM,
S 1L AB, S =6 xrcm/c.




3agaua D-40.19.
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m=1xkr,a=7cM, b=2 cwm,
S =170 krecm/c.

3amaua D-40.20.
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m=1kKr,a=6cM b=1 cm,
c=2cm, S =31 krem/c.

3apgaua D-40.21.
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m=1%kr,a=6cM b=1 cMm,
S =910 krcem/c.

3apgaua D-40.22.

m=2%kr, R=5cm, r =3 cm,
S = 68 krcm/c.

3agaua D-40.23.
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m=3Kr,a=7cM b=14 cwm,
c=2cm, S =390 xrem/c.

3apgaua D-40.24.
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m=4Kr,a=06cM, b=2 cm,
c=2cM, S = 448 xrem/c.
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3agaua D-40.25.

C

—

a C

m=4%xr,a=7cM b=3 cwm,
c=1cm, S =704 xrem/c.

3agaua D-40.26.

m=1xr, R=4cMm, r =2 cm,
S = 592 krem/c.

3apgaua D-40.27.
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m=2%kKr,a=6cM b=2 cMm,
c=1cm, S =172 xrem/c.

3apaua D-40.28.
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m=1%kr,a=5cM, b=2 cMm,
S =399 krcem/c.
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Nelvyg |ve w J
cm/c et KT CM?
25 |73.0 |24.00 |6.08
39 166.0 [42.00 |16.50
0 1(192.0|72.00 |10.67
7 7.0 |1.37 [54.00
16 |8.0 [3.58 |75.00
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312 (284.084.00 |7.89
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1099 [117.0 |36.00 [19.50
11 {16 [208.0{96.00 |43.33
12 1320(128.0 [96.00 [16.00
13 |550(506.0(220.00(10.12
14 1536 (320.0({72.00 |26.67
15193 [434.0(114.00 |108.50
160 |[72.0 |72.00 |6.00
178 8.0 |[1.74 |24.00
188 (2.0 [1.07 |31.25
19 1366 (170.0 |84.00 |4.72
2019 |31.0 [60.00 |1.72
21312 910.0 {276.00|12.64
22116 |34.0 [10.00 |34.00
23|34 |130.0 [48.00 |32.50
241304|112.0 {96.00 |18.67
25140 |176.0 [72.00 |29.33
26(5281592.0(240.00|8.22
271222186.0 [84.00 |4.78
281399|399.0(72.00 |11.08

D-40 ¢aitn 040d2B

O N O Ol Who—




